@TJMCS
(C) MatDer
http://tjmcs.matder.org.tr/

# Investigation of Boundary Functionals for Renewal-Reward Process with a Generalized Reflecting Barrier 

Tahir Khaniyev,Başak Gever and Zulfiye Hanalioglu


#### Abstract

In this study, renewal - reward process with a generalized reflecting barrier $(X(t))$ and its three boundary functionals are mathematically constructed. Next, the asymptotic expansions are obtained for the first four moments of these boundary functionals of the process $X(t)$.


2010 AMS Classification: Primary: 60K15, Secondary: 60K05, 60K20.
Keywords: Renewal - reward process, Boundary functional, Asymptotic expansion, Reflecting barrier.

## 1. INTRODUCTION

A number of very interesting problems of queuing, reliability, stock control theory, stochastic finance, mathematical insurance, physics and biology are expressed by means of renewal - reward processes (e.g., Feller [7], Borovkov [3], Brown and Solomon [4], Patch [12], Khaniyev [8], Aliyev et. al. [1]). Moreover, many modifications of renewal - reward processes can be used for solutions of some problems in these fields, as well. These modifications are mostly given with various types of the barriers (e.g., absorbing, delaying, reflecting and elastic barriers) or a discrete interference of chance.

However, some interesting problems of physics (e.g., motion of the particle with high energy in a diluted environment) are expressed by means of the processes with reflecting barrier. In the literature, there are a number of interesting studies on stochastic processes with reflecting barriers (e.g., Feller [7], Borovkov [3], Khaniyev et. al. [9]). In these studies, authors generally have obtained the analytic results. Unfortunately, these results consist of highly complex mathematical structures.

Recently, for avoiding this difficulty, an asymptotic approach method has been begun to use. For this reason, in this study, the asymptotic expansions for the moments of the boundary functionals of the process are obtained. So as to give this results, we need to make a mathematical definition of renewal - reward process with a generalized reflecting barrier.

## 2. Mathematical Construction of the Process $X(t)$

Let $\left\{\left(\xi_{n}, \eta_{n}\right)\right\}, n=1,2,3, \ldots$, be a sequence of independent and identically distributed random variables defined on a same probability space $(\Omega, \mathcal{F}, P)$, such that the random variables $\xi_{n}$ and $\eta_{n}$ are also mutually independent and take only positive values. Suppose that the distribution functions of $\xi_{n}$ and $\eta_{n}$ are given and these are denoted by $\Phi(t)$ and $F(x)$, respectively, i.e.,

$$
\Phi(t)=P\left\{\xi_{n} \leq t\right\}, \quad F(x)=P\left\{\eta_{n} \leq x\right\} ; \quad t \geq 0 \quad x \geq 0, \quad n=1,2, \ldots
$$

Here, $F(x)$ is a continuous distribution function such that $F(0)=0$.
Define the renewal sequences $\left\{T_{n}\right\}$ and $\left\{S_{n}\right\}$ as follows:

$$
T_{0}=S_{0}=0, \quad T_{n}=\sum_{i=1}^{n} \xi_{i}, \quad S_{n}=\sum_{i=1}^{n} \eta_{i}, \quad n=1,2, \ldots
$$

and construct sequences of random variables $\left\{N_{n}\right\}$ and $\left\{\zeta_{n}\right\}, n=0,1,2, \ldots$ as follows:

$$
\begin{aligned}
N_{0} & =0 ; \quad \zeta_{0}=z \geq 0 ; \quad N_{1} \equiv N_{1}(\lambda z)=\inf \left\{k \geq 1: \lambda z-S_{k}<0\right\} \\
\zeta_{1} & \equiv \zeta_{1}(\lambda z)=\left|\lambda z-S_{N_{1}}\right| \\
N_{n} & \equiv N_{n}\left(\lambda \zeta_{n-1}\right)=\inf \left\{k \geq N_{n-1}+1: \lambda \zeta_{n-1}-\left(S_{k}-S_{N_{n-1}}\right)<0\right\} \\
\zeta_{n} & \equiv \zeta_{n}\left(\lambda \zeta_{n-1}\right)=\left|\lambda \zeta_{n-1}-\left(S_{N_{n}}-S_{N_{n-1}}\right)\right|, \quad n=1,2,3, \ldots
\end{aligned}
$$

Here, $\lambda>0$ is an arbitrary positive constant.
Using $\left\{N_{n}, n=0,1,2, \ldots\right\}$, define the following sequence $\left\{\tau_{n}, n=0,1,2, \ldots\right\}$ :

$$
\tau_{0} \equiv 0 ; \quad \tau_{1} \equiv \tau_{1}(\lambda z)=\sum_{i=1}^{N_{1}} \xi_{i} ; \quad \tau_{2}=\sum_{i=1}^{N_{2}} \xi_{i} ; \ldots ; \quad \tau_{n}=\sum_{i=1}^{N_{n}} \xi_{i}, \quad n=1,2, \ldots
$$

Moreover, let $\nu(t)=\max \left\{n \geq 1: T_{n} \leq t\right\}, t>0$,
We can now construct the desired stochastic process $X(t)$, as follows:

$$
X(t)=\lambda \zeta_{n}-\left(S_{\nu(t)}-S_{N_{n}}\right), \tau_{n} \leq t<\tau_{n+1}, \quad n=0,1,2 \ldots
$$

The process $X(t)$ can be also rewritten as follows:

$$
X(t)=\sum_{n=0}^{\infty}\left\{\lambda \zeta_{n}-\left(S_{\nu(t)}-S_{N_{n}}\right)\right\} I_{\left[\tau_{n} ; \tau_{n+1}\right)}(t)
$$

Here $I_{A}(t)$ represents the indicator function of the set $A$, such that

$$
I_{A}(t)= \begin{cases}1, & t \in A \\ 0, & t \notin A\end{cases}
$$

A trajectory of the process $X(t)$ is given as in Figure 1.
The process $X(t)$ is called renewal - reward process with a generalized reflecting barrier. In the case that $\lambda=1$, the process $X(t)$ is known as renewal - reward process with reflecting barrier.

The main aim of this study is to investigate the asymptotic behaviours of some boundary functionals of the process $X(t)$, when $\lambda \rightarrow \infty$.


Figure 1. A trajectory of the process $X(t)$

## 3. Boundary Functionals of $X(t)$

Three important boundary functionals $N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right), \tau_{1}\left(\lambda \hat{\zeta}_{\lambda}\right), S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}$ have been defined in Section 2, will be investigated in this section. Here, $\hat{\zeta}_{\lambda}$ is a random variable, the distribution function of which is $\pi_{\lambda}(z) \equiv \lim _{n \rightarrow \infty} P\left\{\zeta_{n} \leq z\right\}$. By definition, $\pi_{\lambda}(z)$ is the ergodic distribution of the Markov chain $\left\{\zeta_{n}\right\}$ which are the reflections of the process $X(t)$. The exact expressions and asymptotic expansions of them are obtained. Before giving these results, there need to be stated some propositions. First of all, let us give them.
3.1. Proposition. (Aliyev et. al.[1]) Assume that the condition $\alpha_{4} \equiv E\left(\xi_{1}^{4}\right)<\infty$ is satisfied. Then, the first four moments of the boundary functional $\tau_{1}(z)$ can be expressed by means of the boundary functionals $N_{1}(z)$ as follows:

1) $E\left(\tau_{1}(z)\right)=\alpha_{1} E\left(N_{1}(z)\right)$;
2) $E\left(\tau_{1}^{2}(z)\right)=\alpha_{1}^{2} E\left(N_{1}^{2}(z)\right)+\left(\alpha_{2}-\alpha_{1}^{2}\right) E\left(N_{1}(z)\right)$;
3) $E\left(\tau_{1}^{3}(z)\right)=\alpha_{1}^{3} E\left(N_{1}^{3}(z)\right)+3 \alpha_{1}\left(\alpha_{2}-\alpha_{1}^{2}\right) E\left(N_{1}^{2}(z)\right)$

$$
+\left(2 \alpha_{1}^{3}-3 \alpha_{1}^{2} \alpha_{2}+\alpha_{3}\right) E\left(N_{1}(z)\right)
$$

4) $E\left(\tau_{1}^{4}(z)\right)=\alpha_{1}^{4} E\left(N_{1}^{4}(z)\right)+6 \alpha_{1}^{2}\left(\alpha_{2}-\alpha_{1}^{2}\right) E\left(N_{1}^{3}(z)\right)$
$+\left(11 \alpha_{1}^{4}-18 \alpha_{1}^{2} \alpha_{2}+4 \alpha_{1} \alpha_{3}+3 \alpha_{2}^{2}\right) E\left(N_{1}^{2}(z)\right)$
$+\left(\alpha_{4}+12 \alpha_{1}^{2} \alpha_{2}-4 \alpha_{1} \alpha_{3}-3 \alpha_{2}^{2}-6 \alpha_{1}^{4}\right) E\left(N_{1}^{4}(z)\right) ;$
Here $\alpha_{k} \equiv E\left(\xi_{1}^{k}\right), k=1,2,3,4$.
The boundary functional $N_{1}(z)$ is a renewal process. The asymptotic expansions for the moments of $N_{1}(z)$ exist in the literature [1]. It can be given as follows:
3.2. Proposition. (Aliyev et. al. [1]) Suppose that $m_{2} \equiv E\left(\eta_{1}^{2}\right)<\infty$. Then, the following two-term asymptotic expansions can be written for the first four moments
of the boundary functional $N_{1}(z)$, when $z \rightarrow \infty$ :

$$
E\left(N_{1}^{n}(z)\right)=\left(\frac{z}{m_{1}}\right)^{n}+\left[n^{2} C_{F}-\frac{n(n-1)}{2}\right]\left(\frac{z}{m_{1}}\right)^{n-1}+o\left(z^{n-1}\right)
$$

Here, $C_{F}=m_{2} /\left(2 m_{1}^{2}\right)$ is coefficient of Feller and $m_{k} \equiv E\left(\eta_{1}^{k}\right), k=1,2,3,4$.
The first aim of this study is to investigate the boundary functional $N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$, when $\lambda \rightarrow \infty$. Before investigating the boundary functional $N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$, let us give the following lemmas.
3.1. Lemma. $g(x): R^{+} \rightarrow R$ is a measurable and bounded function and $\lim _{x \rightarrow \infty} g(x)=$ 0 . Then, the following relation can be written:

$$
\lim _{\lambda \rightarrow \infty} \int_{0}^{\infty} g(\lambda z) d \pi_{\lambda}(z)=0
$$

Proof. Since $\lim _{x \rightarrow \infty} g(x)=0$, for every $\varepsilon>0$, there exist such a $x^{*}(\varepsilon)<\infty$ and for every $x \geq x^{*}(\varepsilon)$ the following inequality is hold:

$$
\begin{equation*}
|g(x)| \leq \frac{\varepsilon}{2} \tag{3.1}
\end{equation*}
$$

For instance, $x^{*}(\varepsilon)$ can be defined as follows:

$$
\begin{equation*}
x^{*}(\varepsilon) \equiv x^{*}=\sup \left\{x>0:|g(x)|>\frac{\varepsilon}{2}\right\} \tag{3.2}
\end{equation*}
$$

Then, for every $x \geq x^{*},|g(x)| \leq \varepsilon / 2$ will be hold. Let $\delta>0$ be an arbitrary positive constant, for now. Then, $\int_{0}^{\infty} g(\lambda z) d \pi_{\lambda}(z)$ can be shown as follows:

$$
\begin{equation*}
\int_{0}^{\infty} g(\lambda z) d \pi_{\lambda}(z)=\int_{0}^{\delta} g(\lambda z) d \pi_{\lambda}(z)+\int_{\delta}^{\infty} g(\lambda z) d \pi_{\lambda}(z) \tag{3.3}
\end{equation*}
$$

Now, define $\lambda_{*}(\varepsilon, \delta)$ as follows:

$$
\begin{equation*}
\lambda_{*}(\varepsilon, \delta)=\frac{x^{*}(\varepsilon)}{\delta} \tag{3.4}
\end{equation*}
$$

For every $\lambda \geq \lambda_{*}(\varepsilon, \delta)$, it will be $\lambda \delta \geq x^{*}(\varepsilon)$. Therefore, after computing, for each $\lambda \geq \lambda_{*}(\varepsilon, \delta)$, the following inequality is hold:

$$
\begin{align*}
\left|\int_{\delta}^{\infty} g(\lambda z) d \pi_{\lambda}(z)\right| & \leq \int_{\delta}^{\infty}|g(\lambda z)| d \pi_{\lambda}(z) \leq \int_{\delta}^{\infty} \frac{\varepsilon}{2} d \pi_{\lambda}(z) \\
& =\frac{\varepsilon}{2} \int_{\delta}^{\infty} d \pi_{\lambda}(z) \leq \frac{\varepsilon}{2}\left(1-\pi_{\lambda}(\delta)\right) \leq \frac{\varepsilon}{2} \tag{3.5}
\end{align*}
$$

Moreover, according to conditions of Lemma 3.1, $g(x)$ is a bounded function and $\sup _{x \in R}|g(x)| \leq M<\infty$. Hence, for each $z \geq 0,|g(\lambda z)| \leq M$ is satisfied. Then, the following inequality can be written:

$$
\begin{equation*}
\left|\int_{0}^{\delta} g(\lambda z) d \pi_{\lambda}(z)\right| \leq \int_{0}^{\delta}|g(\lambda z)| d \pi_{\lambda}(z) \leq M \pi_{\lambda}(\delta) \tag{3.6}
\end{equation*}
$$

Here, $\pi_{\lambda}(x)$ is a continuous distribution and $\pi_{\lambda}(0)=0$. For this reason, there exist such a $\delta>0$, so that

$$
\begin{equation*}
\pi_{\lambda}(\delta) \leq \frac{\varepsilon}{2 M} \tag{3.7}
\end{equation*}
$$

is satisfied. The greatest $\delta$ which is satisfied the Eq.(3.7), denote with $\delta^{*}$. In other words, $\delta^{*} \equiv \delta^{*}(\varepsilon)$ can be define as follows:

$$
\delta^{*} \equiv \delta^{*}(\varepsilon)=\sup \left\{\delta>0: \pi_{\lambda}(\delta) \leq \frac{\varepsilon}{2 M}\right\}>0
$$

Since $\pi_{\lambda}(z)$ is a non-decreasing monotone function with respect to parameter $z$, for every $\delta \leq \delta^{*}(\varepsilon)$, it will be $\pi_{\lambda}(\delta) \leq \varepsilon /(2 M)$. In this case, it is followed that

$$
\begin{equation*}
\left|\int_{0}^{\delta} g(\lambda z) d \pi_{\lambda}(z)\right| \leq M \pi_{\lambda}(z) \leq M \frac{\varepsilon}{2 M}=\frac{\varepsilon}{2} \tag{3.8}
\end{equation*}
$$

Thus, substituting Eq.(3.5) and Eq.(3.6) into Eq.(3.3), the following inequality is obtained:

$$
\begin{aligned}
\left|\int_{0}^{\delta^{*}(\varepsilon)} g(\lambda z) d \pi_{\lambda}(z)\right| & \leq\left|\int_{0}^{\delta^{*}(\varepsilon)} g(\lambda z) d \pi_{\lambda}(z)\right|+\left|\int_{\delta^{*}(\varepsilon)}^{\infty} g(\lambda z) d \pi_{\lambda}(z)\right| \\
& \leq \frac{\varepsilon}{2}+\frac{\varepsilon}{2}=\varepsilon
\end{aligned}
$$

Therefore, it is concluded that

$$
\begin{equation*}
\lim _{\lambda \rightarrow \infty} \int_{0}^{\infty} g(\lambda z) d \pi_{\lambda}(z)=0 \tag{3.9}
\end{equation*}
$$

Thus, Lemma 3.1 is proved.
3.2. Lemma. Suppose that $\lim _{x \rightarrow \infty} g(x)=0$ and $\sup _{x}|g(x)| \leq M<\infty$. Moreover, $m_{n+1} \equiv E\left(\eta_{1}^{n+1}\right)<\infty$ is satisfied. Then, the following relation is hold, when $\lambda \rightarrow \infty$ :

$$
\begin{equation*}
\lim _{\lambda \rightarrow \infty} \int_{0}^{\infty} z^{n} g(\lambda z) d \pi_{\lambda}(z)=0, \quad n=1,2, \ldots \tag{3.10}
\end{equation*}
$$

Proof. The integral in the relation (3.10) can be rewritten as follows:

$$
\begin{equation*}
\int_{0}^{\infty} z^{n} g(\lambda z) d \pi_{\lambda}(z)=\int_{0}^{\delta} z^{n} g(\lambda z) d \pi_{\lambda}(z)+\int_{\delta}^{\infty} z^{n} g(\lambda z) d \pi_{\lambda}(z) \tag{3.11}
\end{equation*}
$$

Here, the constant $\delta>0$ will be chosen by a special method which is going to be explained below. The aim is to satisfy $\lambda z \rightarrow \infty$, while investigating the asymptotic behavior of the integral $\int_{\delta}^{\infty} z^{n} g(\lambda z) d \pi_{\lambda}(z)$. For shortness, define the following notation:

$$
J_{1 n}(\delta) \equiv \int_{0}^{\delta} z^{n} g(\lambda z) d \pi_{\lambda}(z) ; \quad J_{2 n}(\delta) \equiv \int_{\delta}^{\infty} z^{n} g(\lambda z) d \pi_{\lambda}(z)
$$

The first step is to determine the $\delta$. It is going to be determined according to the following rule for each $\varepsilon>0$ :

$$
\delta^{*}(\varepsilon) \equiv \inf \left\{\begin{array}{c}
\left.\delta>0: \pi_{\lambda}(\delta) \geq \frac{\varepsilon}{2 M}\right\} . \tag{3.12}
\end{array}\right.
$$

Since the distribution of $\eta_{n} \mathrm{~s}$ is continuous distribution, $\zeta_{n} \mathrm{~s}$, which is the continuous function of them, will also be positive-valued and continuous random variables. Therefore, it should be $\pi_{\lambda}(0)=0$. Then, $\delta^{*}(\varepsilon)$ can be derived from the following equation, directly:

$$
\begin{equation*}
\pi_{\lambda}\left(\delta^{*}(\varepsilon)\right)=\frac{\varepsilon}{2 M} \tag{3.13}
\end{equation*}
$$

The solution of Eq.(3.13) exist and it is unique. Now, choose $\delta(\varepsilon)$ such as $\delta(\varepsilon) \equiv$ $\min \left\{1, \delta^{*}(\varepsilon)\right\}$ and evaluate $J_{1 n}(\delta(\varepsilon))$ :

$$
\begin{align*}
\left|J_{1 n}(\delta(\varepsilon))\right| & \equiv\left|\int_{0}^{\delta(\varepsilon)} z^{n} g(\lambda z) d \pi_{\lambda}(z)\right| \leq \int_{0}^{\delta(\varepsilon)} z^{n}|g(\lambda z)| d \pi_{\lambda}(z) \\
& \leq M \int_{0}^{\delta(\varepsilon)} z^{n} d \pi_{\lambda}(z) \leq M[\delta(\varepsilon)]^{n} \pi_{\lambda}(\delta(\varepsilon)) \leq M \pi_{\lambda}(\delta(\varepsilon)) \\
& \leq M \pi_{\lambda}\left(\delta^{*}(\varepsilon)\right) \leq \frac{M \varepsilon}{2 M}=\frac{\varepsilon}{2} \tag{3.14}
\end{align*}
$$

Briefly, for each $\varepsilon>0,\left|J_{1 n}(\delta(\varepsilon))\right| \leq \varepsilon / 2$ is hold. Next, evaluate $J_{2 n}(\delta(\varepsilon))$ :

$$
\begin{equation*}
\left|J_{2 n}(\delta(\varepsilon))\right| \leq\left|\int_{\delta(\varepsilon)}^{\infty} z^{n} g(\lambda z) d \pi_{\lambda}(z)\right| \leq \int_{\delta(\varepsilon)}^{\infty} z^{n}|g(\lambda z)| d \pi_{\lambda}(z) \tag{3.15}
\end{equation*}
$$

According to definition of $\delta(\varepsilon)$, it is a positive number, i.e., $\delta(\varepsilon) \in(0,1]$.In this case, when $\lambda$ is chosen sufficiently large, then the condition $\lambda z \rightarrow \infty$ can be hold and $|g(\lambda z)| \leq \varepsilon /(2 A)$ is true. Here, the positive constant $A$ will be determined later. According to the conditions of Lemma 3.2, $\lim _{x \rightarrow \infty} g(x)=0$. Hence, for every $\varepsilon>0$ and $x \geq x^{*}$, there exist such a number $x^{*}$ that can be written $|g(x)| \leq \varepsilon /(2 A)$. The number $x^{*}(\varepsilon)$ can be determined as follows:

$$
\begin{equation*}
x^{*}(\varepsilon) \equiv \sup \left\{x>0:|g(x)| \geq \frac{\varepsilon}{2 A}\right\} \tag{3.16}
\end{equation*}
$$

Then, for each $x \geq x^{*}(\varepsilon),|g(x)| \leq \varepsilon /(2 A)$. In this case, $\lambda$ should be chosen as $\lambda z \leq x^{*} \equiv x^{*}(\varepsilon)$. For this, the smallest $\lambda$ can be defined as follows:

$$
\begin{equation*}
\lambda_{*} \equiv \lambda_{*}(\varepsilon)=\frac{x^{*}(\varepsilon)}{\delta(\varepsilon)} \tag{3.17}
\end{equation*}
$$

For every $\lambda \geq \lambda_{*}$, since $\lambda z \geq \lambda \delta(\varepsilon) \geq \lambda^{*}(\varepsilon) \delta(\varepsilon) \geq x^{*}(\varepsilon)$ is hold, $g(\lambda z) \leq \varepsilon /(2 A)$. Go back to Eq.(3.15), for every $\lambda \geq \lambda_{*}$, the following relation can be written:

$$
\begin{equation*}
\left|J_{2 n}(\delta(\varepsilon))\right| \leq \int_{\delta(\varepsilon)}^{\infty} z^{n} \frac{\varepsilon}{2 A} d \pi_{\lambda}(z) \leq \frac{\varepsilon}{2 A} \int_{\delta(\varepsilon)}^{\infty} z^{n} d \pi_{\lambda}(z) \leq \frac{\varepsilon}{2 A} E\left(\hat{\zeta}_{\lambda}^{n}\right) \tag{3.18}
\end{equation*}
$$

Here, $E\left(\hat{\zeta}_{\lambda}^{n}\right)$ is the $n^{t h}$ order moment of the ergodic distribution $\pi_{\lambda}(z)$. According to Rogozin [14], the following convergence is hold, when $\lambda \rightarrow \infty$ :

$$
\pi_{\lambda}(z) \rightarrow \pi_{0}(z) \equiv \frac{1}{m_{1}} \int_{0}^{z}(1-F(v)) d v
$$

Moreover, since $m_{n+1}<\infty$ is satisfied, according to convergence of moments (Feller [7], p. 251), the following convergence can be given, when $\lambda \rightarrow \infty$ :

$$
\begin{equation*}
E\left(\hat{\zeta}_{\lambda}^{n}\right) \rightarrow \frac{m_{n+1}}{(n+1) m_{1}} \tag{3.19}
\end{equation*}
$$

Then, it can be possible to choose such a $\lambda_{1} \gg 1$ which satisfies the following expression:

$$
\begin{equation*}
E\left(\hat{\zeta}_{\lambda_{1}}^{n}\right) \leq \frac{2 m_{n+1}}{(n+1) m_{1}} \equiv K<\infty \tag{3.20}
\end{equation*}
$$

Now, choose $\lambda=\lambda^{*}(\varepsilon)$ which satisfies the following expression:

$$
\begin{equation*}
\lambda^{*}(\varepsilon) \equiv \max \left\{\lambda_{*}(\varepsilon), \lambda_{1}\right\} \tag{3.21}
\end{equation*}
$$

According to definition of $\lambda^{*}(\epsilon)$, for every $\lambda \geq \lambda^{*}(\varepsilon)$,
$E\left(\hat{\zeta}_{\lambda}^{n}\right) \leq 2 m_{n+1} /\left[(n+1) m_{1}\right] \equiv K<\infty$ and

$$
\begin{equation*}
\left|J_{2 n}(\delta(\varepsilon))\right| \leq \frac{\varepsilon}{2 K} E\left(\hat{\zeta}_{\lambda}^{n}\right) \leq \frac{\varepsilon}{2 K} K=\frac{\varepsilon}{2} \tag{3.22}
\end{equation*}
$$

As a result, for every $\varepsilon>0$, as long as $\lambda \geq \lambda^{*}(\varepsilon)$ is satisfied, $\left|J_{2 n}(\delta(\varepsilon))\right| \leq \varepsilon / 2$ is hold. Taking into account the Eq.(3.14) and Eq.(3.22), for every $\varepsilon>0$ and $\lambda \geq \lambda^{*}(\varepsilon)$, the following inequality is satisfied:

$$
\begin{equation*}
\left|\int_{0}^{\infty} z^{n} g(\lambda z) d \pi_{\lambda}(z)\right| \leq\left|J_{1 n}(\delta(\varepsilon))\right|+\left|J_{2 n}(\delta(\varepsilon))\right| \leq \frac{\varepsilon}{2}+\frac{\varepsilon}{2}=\varepsilon \tag{3.23}
\end{equation*}
$$

Thus, the following convergence is obtained, when $\lambda \rightarrow \infty$ :

$$
\begin{equation*}
\int_{0}^{\infty} z^{n} g(\lambda z) d \pi_{\lambda}(z) \rightarrow \infty \tag{3.24}
\end{equation*}
$$

Hence, Lemma 3.2 is proved.
Using these results, it can be given the following theorem which expresses the asymptotic expansions for the first four moments of the boundary functional $N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$.
3.1. Theorem. Assume that the conditions of Proposition 3.2, Lemma 3.1 and Lemma 3.2 are satisfied. Then, the following asymptotic expansions for the moments of boundary functional $N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$ can be given, when $\lambda \rightarrow \infty$ :

$$
E\left(N_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right)=\left(\frac{\lambda}{m_{1}}\right)^{n} A_{n}+\left(\frac{\lambda}{m_{1}}\right)^{n-1} B_{n} A_{n-1}+o\left(\lambda^{n-1}\right)
$$

Here,

$$
A_{n} \equiv \frac{m_{n+1}}{(n+1) m_{1}} ; \quad B_{n} \equiv n^{2} C_{F}-\frac{n(n-1)}{2} ; \quad m_{n} \equiv E\left(\eta_{1}^{n}\right), n=1,2,3,4
$$

and $C_{F}$ is the coefficient of Feller, i.e., $C_{F} \equiv m_{2} /\left(2 m_{1}^{2}\right)$.
Proof. In Theorem 3.1, denote the coefficient of the second term with $B_{n}, n=$ $1,2,3,4$, as follows:

$$
\begin{equation*}
B_{n} \equiv n^{2} C_{F}-\frac{n(n-1)}{2}, n=1,2,3,4 \tag{3.25}
\end{equation*}
$$

Then, the following expansion can be rewritten for $E\left(N_{1}^{n}(z)\right), n=1,2,3,4$ :

$$
\begin{equation*}
E\left(N_{1}^{n}(z)\right)=\left(\frac{z}{m_{1}}\right)^{n}+B_{n}\left(\frac{z}{m_{1}}\right)^{n-1}+\left(\frac{z}{m_{1}}\right)^{n-1} g_{n}(z) \tag{3.26}
\end{equation*}
$$

Here, $g_{n}(z)$ is a bounded function and $\lim _{z \rightarrow \infty} g_{n}(z)=0$. Integrate the both side of the Eq.(3.26) with respect to $\pi_{\lambda}(z)$, then the following expression is obtained:

$$
\begin{align*}
E\left(N_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right) & \equiv \int_{0}^{\infty} E\left(N_{1}^{n}(\lambda z)\right) d \pi_{\lambda}(z) \\
& =\int_{0}^{\infty}\left(\frac{\lambda z}{m_{1}}\right)^{n} d \pi_{\lambda}(z)+B_{n} \int_{0}^{\infty}\left(\frac{\lambda z}{m_{1}}\right)^{n-1} d \pi_{\lambda}(z) \\
& +\int_{0}^{\infty}\left(\frac{\lambda z}{m_{1}}\right)^{n-1} g_{n}(\lambda z) d \pi_{\lambda}(z) \\
(3.27) & =\left(\frac{\lambda z}{m_{1}}\right)^{n} E\left(\hat{\zeta}_{\lambda}^{n}\right)+B_{n}\left(\frac{\lambda z}{m_{1}}\right)^{n-1} E\left(\hat{\zeta}_{\lambda}^{n-1}\right)+\left(\frac{\lambda z}{m_{1}}\right)^{n-1} I_{n}(\lambda) \tag{3.27}
\end{align*}
$$

Here, $E\left(\hat{\zeta}_{\lambda}^{n}\right)=\int_{0}^{\infty} z^{n-1} d \pi_{\lambda}(z), n=1,2, \ldots$ and $I_{n}(\lambda) \equiv \int_{0}^{\infty} z^{n-1} g_{n}(\lambda z) d \pi_{\lambda}(z)$. From Lemma 3.2, $I_{n}(\lambda) \rightarrow 0$ is hold, when $\lambda \rightarrow \infty$. Consequently, $I_{n}(\lambda)=o(1)$.

Taking consideration Eq.(3.19) into the Eq.(3.27), the following expansion can be derived, when $\lambda \rightarrow \infty$ :

$$
\begin{equation*}
E\left(N_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right)=\left(\frac{\lambda}{m_{1}}\right)^{n} A_{n}+\left(\frac{\lambda}{m_{1}}\right)^{n-1} B_{n} A_{n-1}+o\left(\lambda^{n-1}\right) \tag{3.28}
\end{equation*}
$$

Here,

$$
\begin{aligned}
A_{n} & \equiv \frac{m_{n+1}}{(n+1) m_{1}} ; \quad B_{n} \equiv n^{2} C_{F}-\frac{n(n-1)}{2} \\
C_{F} & \equiv \frac{m_{2}}{2 m_{1}^{2}} ; \quad m_{n} \equiv E\left(\eta_{1}^{n}\right), n=1,2,3,4
\end{aligned}
$$

Thus, Theorem 3.1 is proved.
Now, investigate the boundary functional $\tau_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$. To obtain the moments of the boundary functional $\tau_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$, give the following lemma from literature.
3.3. Lemma. (Aliyev et. al. [1]) Suppose that the conditions of Lemma 3.1. Then, the following asymptotic expansions for the first four moments of the boundary functional $\tau_{1}(z)$ can be written, when $\lambda \rightarrow \infty$ :

$$
\begin{equation*}
E\left(\tau_{1}^{n}(z)\right)=\alpha_{1}^{n}\left(\frac{z}{m_{1}}\right)^{n}+\frac{n^{2}}{2} \alpha_{1}^{n} D_{n}\left(\frac{z}{m_{1}}\right)^{n-1}+o\left(z^{n-1}\right) \tag{3.29}
\end{equation*}
$$

Here, $D_{n}=C_{v}^{2}\left(\eta_{1}\right)+\frac{n-1}{n} C_{v}^{2}\left(\xi_{1}\right)+\frac{1}{n} . C_{v}\left(\eta_{1}\right)$ and $C_{v}\left(\xi_{1}\right)$ are the variation of coefficient of $\eta_{1}$ and $\xi_{1}$, respectively, i.e.,

$$
\begin{aligned}
C_{v}\left(\eta_{1}\right) & \equiv \frac{\sigma_{\eta}}{m_{1}} ; \sigma_{\eta} \equiv \operatorname{Var}\left(\eta_{1}\right) ; m_{1} \equiv E\left(\eta_{1}\right) \\
C_{v}\left(\xi_{1}\right) & \equiv \frac{\sigma_{\xi}}{\alpha_{1}} ; \sigma_{\xi} \equiv \operatorname{Var}\left(\xi_{1}\right) ; \alpha_{1} \equiv E\left(\xi_{1}\right)
\end{aligned}
$$

3.2. Theorem. Suppose that $E\left(\xi_{1}^{2}\right)<\infty$ and $E\left(\eta_{1}^{n+1}\right)<\infty, n=1,2,3,4$. Then, the asymptotic expansion for the first four moments of $\tau_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$ can be written as follows, when $\lambda \rightarrow \infty$ :

$$
\begin{equation*}
E\left(\tau_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right)=\alpha_{1}^{n} C_{n} \lambda^{n}+\frac{n^{2}}{2} \alpha_{1}^{n} C_{n-1} D_{n} \lambda^{n-1}+o\left(\lambda^{n-1}\right), \quad n=1,2,3,4 \tag{3.30}
\end{equation*}
$$

Here, $A_{n} \equiv m_{n+1} /\left((n+1) m_{1}\right), C_{n}=A_{n} / m_{1}^{n}$ and $D_{n}=C_{v}^{2}\left(\eta_{1}\right)+((n+1) / n) C_{v}^{2}\left(\xi_{1}\right)+$ $1 / n$. Moreover, $C_{v}\left(\eta_{1}\right)$ and $C_{v}\left(\xi_{1}\right)$ are variation coefficients of $\eta_{1}$ and $\xi_{1}$, respectively.

Proof. By definition,

$$
\begin{equation*}
E\left(\tau_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)\right) \equiv \int_{0}^{\infty} E\left(\tau_{1}(\lambda z)\right) d \pi_{\lambda}(z) \tag{3.31}
\end{equation*}
$$

Here, $\pi_{\lambda}(z)$ is the ergodic distribution of Markov chain $\left\{\zeta_{n}\right\}$. On the other hand, according to relation in Eq.(3.29), the following representation can be written:

$$
\begin{equation*}
E\left(\tau_{1}^{n}(z)\right)=\alpha_{1}^{n}\left(\frac{z}{m_{1}}\right)^{n}+\frac{n^{2}}{2} \alpha_{1}^{n} D_{n}\left(\frac{z}{m_{1}}\right)^{n-1}+\left(\frac{z}{m_{1}}\right)^{n-1} g_{n}(z) \tag{3.32}
\end{equation*}
$$

Here, $g_{n}(z)$ is a bounded function, besides $\lim _{z \rightarrow \infty} g_{n}(z)=0$ and $\sup _{z \in R}\left|g_{n}(z)\right|=$ $M_{n}<\infty$. Taking Eq.(3.32) into account of Eq.(3.31), the following expansion is derived:

$$
\begin{align*}
E\left(\tau_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right) & =\alpha_{1}^{n} \frac{\lambda^{n}}{m_{1}^{n}} \int_{0}^{\infty} z^{n} d \pi_{\lambda}(z)+\frac{n^{2}}{2} \alpha_{1}^{n} D_{n}\left(\frac{\lambda}{m_{1}}\right)^{n-1} \int_{0}^{\infty} z^{n-1} d \pi_{\lambda}(z) \\
& +\left(\frac{\lambda}{m_{1}}\right)^{n-1} \int_{0}^{\infty} z^{n-1} g(\lambda z) d \pi_{\lambda}(z) \tag{3.33}
\end{align*}
$$

Taking into account Lemma 3.2 in Eq.(3.33), the asymptotic expansions for the first four moments of $\tau_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$ can be obtained as follows:

$$
\begin{align*}
E\left(\tau_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right) & =\left(\frac{\alpha_{1}}{m_{1}}\right)^{n} \lambda^{n} E\left(\hat{\zeta}_{\lambda}^{n}\right)+\frac{n^{2}}{2} \alpha_{1}^{n} D_{n}\left(\frac{\lambda}{m_{1}}\right)^{n-1} E\left(\hat{\zeta}_{\lambda}^{n-1}\right) \\
& +o\left(\left(\frac{\lambda}{m_{1}}\right)^{n-1}\right) \tag{3.34}
\end{align*}
$$

Here, $E\left(\hat{\zeta}_{\lambda}^{n}\right)$ is the ergodic moments of the Markov chain $\left\{\zeta_{n}\right\}$.
Considering Eq.(3.19), the following asymptotic expansion is obtained from Eq.(3.34):

$$
E\left(\tau_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right)=\alpha_{1}^{n} C_{n} \lambda^{n}+\frac{n^{2}}{2} \alpha_{1}^{n} C_{n-1} D_{n} \lambda^{n-1}+o\left(\lambda^{n-1}\right)
$$

This concludes the proof of Theorem 3.2.
3.1. Example. $\eta_{1}$ has an exponential distribution with the parameter $\beta$ and $\xi_{1}$ also has an exponential distribution with the parameter $\mu$. Then, the followings can be
derived:

$$
\begin{aligned}
& E\left(\xi_{1}\right)=\alpha_{1}=\frac{1}{\mu} ; E\left(\xi_{1}^{2}\right)=\frac{2}{\mu^{2}} ; \sigma_{\xi}^{2}=\operatorname{Var}\left(\xi_{1}\right)=\frac{1}{\mu^{2}} ; \quad \sigma_{\xi}=\frac{1}{\mu} \\
& E\left(\eta_{1}\right)=m_{1}=\frac{1}{\beta} ; E\left(\eta_{1}^{2}\right)=\frac{2}{\beta^{2}} ; \sigma_{\eta}^{2}=\operatorname{Var}\left(\eta_{1}\right)=\frac{1}{\beta^{2}} ; \quad \sigma_{\eta}=\frac{1}{\beta}
\end{aligned}
$$

The coefficient variations of $\xi_{1}$ and $\eta_{1}$ can be gotten as follows:

$$
C_{v}\left(\xi_{1}\right) \equiv \frac{\sigma_{\xi}}{\alpha_{1}}=\frac{1 / \mu}{1 / \mu}=1 ; \quad C_{v}\left(\eta_{1}\right) \equiv \frac{\sigma_{\eta}}{m_{1}}=\frac{1 / \beta}{1 / \beta}=1
$$

Now, the coefficients $A_{n}, C_{n}$ and $D_{n}$ can be calculated as follows:

$$
\begin{aligned}
A_{n} & \equiv \frac{m_{n+1}}{(n+1) m_{1}}=\frac{(n+1)!/ \beta^{n+1}}{(n+1) / \beta}=\frac{n!}{\beta^{n}} ; \quad C_{n}=\frac{A_{n}}{m_{1}^{n}}=\frac{n!/ \beta^{n}}{1 / \beta^{n}}=n! \\
D_{n} & \equiv C_{v}^{2}\left(\eta_{1}\right)+\left(\frac{n+1}{n}\right) C_{v}^{2}\left(\xi_{1}\right)+\frac{1}{n}=1+\frac{n-1}{n}+\frac{1}{n}=2
\end{aligned}
$$

Therefore, the following result is hold:

$$
\begin{aligned}
E\left(\tau_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right) & =\alpha_{1}^{n} C_{n} \lambda^{n}+\frac{n^{2}}{2} \alpha_{1}^{n} C_{n-1} D_{n} \lambda^{n-1}+o\left(\lambda^{n-1}\right) \\
& =\frac{n!}{\mu^{n}}\left\{\lambda^{n}+n \lambda^{n-1}+o\left(\lambda^{n-1}\right)\right\}
\end{aligned}
$$

3.2. Example. Assume that random variable $\eta_{1}$ has uniform distribution with parameters $[0,1]$ and random variable $\xi_{1}$ has exponential distribution with parameter $\mu$. Then, the followings can be given:

$$
\begin{aligned}
& E\left(\xi_{1}\right)=\alpha_{1}=\frac{1}{\mu} ; E\left(\xi_{1}^{2}\right)=\frac{2}{\mu^{2}} ; \sigma_{\xi}^{2}=\operatorname{Var}\left(\xi_{1}\right)=\frac{1}{\mu^{2}} ; \sigma_{\xi}=\frac{1}{\mu} \\
& E\left(\eta_{1}^{n}\right)=m_{n}=\int_{0}^{1} x^{n} d x=\frac{1}{n+1}, n=1,2, \ldots \\
& E\left(\eta_{1}\right)=\frac{1}{2} ; E\left(\eta_{1}^{2}\right)=m_{2}=\frac{1}{3} ; \sigma_{\eta}^{2}=\operatorname{Var}\left(\eta_{1}\right)=\frac{1}{12} ; \quad \sigma_{\eta}=\frac{1}{2 \sqrt{3}} .
\end{aligned}
$$

The coefficient variations of $\xi_{1}$ and $\eta_{1}$ can be obtained as follows:

$$
C_{v}\left(\xi_{1}\right) \equiv \frac{\sigma_{\xi}}{\alpha_{1}}=\frac{1 / \mu}{1 / \mu}=1 ; \quad C_{v}\left(\eta_{1}\right) \equiv \frac{\sigma_{\eta}}{m_{1}}=\frac{1}{\sqrt{3}}
$$

Now, calculate the coefficient of $A_{n}, C_{n}$ and $D_{n}$ as follows:

$$
\begin{aligned}
A_{n} & \equiv \frac{m_{n+1}}{(n+1) m_{1}}=\frac{1 /(n+2)}{(n+1) / 2}=\frac{2}{(n+1)(n+2)} \\
C_{n} & \equiv \frac{A_{n}}{m_{1}^{n}}=\frac{2^{n+1}}{(n+1)(n+2)} ; \\
D_{n} & \equiv C_{v}^{2}\left(\eta_{1}\right)+\left(\frac{n+1}{n}\right) C_{v}^{2}\left(\xi_{1}\right)+\frac{1}{n}=\frac{1}{3}+\frac{n-1}{n}+\frac{1}{n}=\frac{4}{3}
\end{aligned}
$$

Then, the $n^{\text {th }}(n=1,2,3,4)$ order moment can be written as follows:

$$
\begin{aligned}
E\left(\tau_{1}^{n}\left(\lambda \hat{\zeta}_{\lambda}\right)\right) & \equiv \alpha_{1}^{n} C_{n} \lambda^{n}+\frac{n^{2}}{2} \alpha_{1}^{n} C_{n-1} D_{n} \lambda^{n-1}+o\left(\lambda^{n-1}\right) \\
& =\frac{2^{n+1}}{\mu^{n}}\left\{\frac{\lambda^{n}}{(n+1)(n+2)}+\frac{n \lambda^{n-1}}{3(n+1)}+o\left(\lambda^{n-1}\right)\right\} \\
& =\frac{2^{n+1}}{(n+1)(n+2) \mu^{n}} \lambda^{n}+\frac{n 2^{n+1}}{3(n+1) \mu^{n}} \lambda^{n-1}+o\left(\lambda^{n-1}\right)
\end{aligned}
$$

Now, investigate the boundary functional $S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}$.
According to the definition, $S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}=\sum_{i=1}^{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)} \eta_{i}$. First, investigate asymptotic behaviour of the boundary functional $S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}$, when $z \rightarrow \infty$. For this reason, define the following Laplace transform:

$$
\Psi(\lambda, k) \equiv \int_{0}^{\infty} e^{-\lambda z} E\left(e^{-k S_{N_{1}(z)}}\right) d z ; \quad \lambda>0 ; \quad k \geq 0
$$

Give the following lemma related with the Laplace transform written above.
3.4. Lemma. (Aliyev et. al. [1]) Transform $\Psi(\lambda, k)$ is expressed by means of the Laplace-Stiltjes transform of $\eta_{1}$ as follows:

$$
\Psi(\lambda, k)=\frac{\varphi(k)-\varphi(\lambda+k)}{\lambda(1-\varphi(\lambda+k))}
$$

Here, $\varphi(\theta) \equiv E\left(\exp \left(-\theta \eta_{1}\right)\right), \quad \theta \geq 0$.
It is possible to obtain a lot of useful information from Lemma 3.4. One of them can be given with the following lemma.
3.5. Lemma. (Aliyev et. al [1]) Assume that the first three moment of $\eta_{1}$ is finite. Then the followings are true:
a) $\int_{0}^{\infty} e^{-\lambda z} E\left(S_{N_{1}(z)}\right) d z=m_{1} \tilde{U}_{\eta}(\lambda)$;
b) $\int_{0}^{\infty} e^{-\lambda z} E\left(S_{N_{1}(z)}^{2}\right) d z=m_{2} \tilde{U}_{\eta}(\lambda)+2 m_{1} \tilde{U}_{\eta}(\lambda) U_{\eta}^{*}(\lambda) D_{1}^{*}(\lambda)$;
c) $\int_{0}^{\infty} e^{-\lambda z} E\left(S_{N_{1}(z)}^{3}\right) d z=6 m_{1} \tilde{U}_{\eta}(\lambda) U_{\eta}^{* 2}(\lambda) D_{1}^{*}(\lambda)+3 m_{1} \tilde{U}_{\eta}(\lambda) U_{\eta}^{*}(\lambda) D_{2}^{*}(\lambda)$

$$
+3 m_{2} \tilde{U}_{\eta}(\lambda) U_{\eta}^{*}(\lambda) D_{1}^{*}(\lambda)+m_{3} \tilde{U}_{\eta}(\lambda)
$$

Here, $m_{n}=E\left(\eta_{1}^{n}\right), D_{n}^{*}(\lambda)=E\left(\eta_{1}^{n} e^{-\lambda \eta_{1}}\right), n \geq 1$; and $U_{\eta}(z)$ is a renewal function generated by the random variables $\left\{\eta_{n}\right\}$. Moreover, $\tilde{U}_{\eta}(\lambda)$ and $U_{\eta}^{*}(\lambda)$ represents the Laplace and Laplace Stiltijes transforms of $U_{\eta}(z)$, respectively.

The following result can be derived from Lemma 3.5.
3.1 Corollary. Under the conditions of Lemma 3.5, the following explicit expressions for the first three moments of the boundary functional $S_{N_{1}(z)}$ can be given:

$$
\begin{aligned}
\text { 1) } E\left(S_{N_{1}(z)}\right) & =m_{1} U_{\eta}(z) \\
\text { 2) } E\left(S_{N_{1}(z)}^{2}\right) & =m_{2} U_{\eta}(z)+2 m_{1} U_{\eta}(z) * U_{\eta}(z) * D_{1}(z) \\
\text { 3) } E\left(S_{N_{1}(z)}^{3}\right) & =6 m_{1} U_{\eta}^{* 3}(z) * D_{1}^{* 2}(z) \\
& +3 U_{\eta}^{* 2}(z) *\left[m_{1} D_{2}(z)+m_{2} D_{1}(z)\right]+m_{3} U_{\eta}(z) .
\end{aligned}
$$

Here, $D_{1}(z)=\int_{0}^{z} s d F(s) ; \quad D_{2}(z)=\int_{0}^{z} s^{2} d F(s)$ (Khaniyev [8]) $\square$.
Using Lemma 3.5 and Corollary 3.1, the following lemma can be obtained:
3.6. Lemma. Suppose that $E\left(\eta_{1}^{3}\right)<\infty$ is satisfied, then the following expansions for the first three moment of the boundary functional $S_{N_{1}(z)}$, when $z \rightarrow \infty$ :

$$
\begin{equation*}
E\left(S_{N_{1}^{n}(z)}\right)=z^{n}+n \frac{m_{2}}{2 m_{1}} z^{n-1}+o\left(z^{n-1}\right), n=1,2,3 \tag{3.35}
\end{equation*}
$$

From Lemma 3.6, the following result can be derived by induction.
3.2 Corollary. Under the condition $E\left(\eta_{1}^{2}\right)<\infty$, the moments of the boundary functional $S_{N_{1}(z)}$ can be represented as follows:

$$
\begin{equation*}
E\left(S_{N_{1}(z)}^{n}\right)=z^{n}+n \frac{m_{2}}{2 m_{1}} z^{n-1}+z^{n-1} g_{n}(z), n=1,2, \ldots \tag{3.36}
\end{equation*}
$$

Here, $g_{n}(z)$ is a bounded function and $\lim _{z \rightarrow \infty} g_{n}(z)=0$.
According to definition of $\hat{\zeta}_{\lambda}$ and using the Corollary 3.2, the following theorem can be given for the moments of the boundary functional $S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}$.
3.3. Theorem. For all $n=1,2,3,4, E\left(\eta_{1}^{n+1}\right)<\infty$ is satisfied. Then, the asymptotic expansions for the moments of boundary functional $S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}$ can be written as follows, when $\lambda \rightarrow \infty$ :

$$
E\left(S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}^{n}\right)=\frac{m_{n+1}}{(n+1) m_{1}} \lambda^{n}+\frac{m_{2} m_{n}}{2 m_{1}^{2}} \lambda^{n-1}+o\left(\lambda^{n-1}\right)
$$

Here, $m_{n} \equiv E\left(\eta_{1}^{n}\right), \quad n=1,2,3,4$.
Proof. Recall the following definition:

$$
\begin{equation*}
E\left(S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}^{n}\right) \equiv \int_{0}^{\infty} E\left(S_{N_{1}(\lambda z)}^{n}\right) d \pi_{\lambda}(z) \tag{3.37}
\end{equation*}
$$

Here, $\pi_{\lambda}(z)$ is the distribution of $\hat{\zeta}_{\lambda}$. Substituting $\lambda z$ instead of $z$ in the Eq.(3.36), the following expression can be derived:

$$
\begin{aligned}
E\left(S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}^{n}\right) & =\int_{0}^{\infty}(\lambda z)^{n} d \pi_{\lambda}(z)+n \frac{m_{2}}{2 m_{1}} \int_{0}^{\infty}(\lambda z)^{n-1} d \pi_{\lambda}(z) \\
& +\int_{0}^{\infty}(\lambda z)^{n-1} g_{n}(\lambda z) d \pi_{\lambda}(z) \\
(3.38) & =\lambda^{n} E\left(\hat{\zeta}_{\lambda}^{n}\right)+n \frac{m_{2}}{2 m_{1}} \lambda^{n-1} E\left(\hat{\zeta}_{\lambda}^{n-1}\right)+\lambda^{n-1} \int_{0}^{\infty} z^{n-1} g_{n}(\lambda z) d \pi_{\lambda}(z)
\end{aligned}
$$

According to Lemma 3.1 and Lemma 3.2, for each $n=1,2, \ldots$,
$\lim _{\lambda \rightarrow \infty} \int_{0}^{\infty} z^{n-1} g(\lambda z) d \pi_{\lambda}(z)=0$ is satisfied. Then, Eq.(3.38) can be rewritten as an asymptotic expansion as follows:

$$
\begin{equation*}
E\left(S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}^{n}\right)=\lambda^{n} E\left(\hat{\zeta}_{\lambda}^{n}\right)+n \frac{m_{2}}{2 m_{1}} \lambda^{n-1} E\left(\hat{\zeta}_{\lambda}^{n-1}\right)+o\left(\lambda^{n-1}\right) \tag{3.39}
\end{equation*}
$$

Considering the relation in Eq.(3.19) into asymptotic expansion Eq. (3.39), for each $n=1,2, \ldots$, the following asymptotic expansion is obtained, when $\lambda \rightarrow \infty$ :

$$
E\left(S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}\right)=\frac{m_{n+1}}{(n+1) m_{1}} \lambda^{n}+\frac{m_{1} m_{n}}{2 m_{1}^{2}} \lambda^{n-1}+o\left(\lambda^{n-1}\right)
$$

Thus, Theorem 3.3 is proved.

## 4. Summary and Conclusion

In this study, a renewal - reward process with a generalized reflecting barrier is considered and its three important boundary functionals $N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right), \tau_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)$, $S_{N_{1}\left(\lambda \hat{\zeta}_{\lambda}\right)}$ are investigated. The asymptotic expansions for their first-four moments are obtained. These formulas are especially expressed by means of some characteristics of the residual waiting time generated by $\eta_{n}$. Hence, we observed that there is a connection between the moments of these there boundary functionals and some numerical characteristics of residual waiting time generated by $\eta_{n}$. This connection can form a basis for applying some important results related to residual waiting time (e.g., Feller [7], Smith [15], Rogozin [14], etc.) to solution of various similar problems.

Although the obtained formulas in this study, are approximated, they are both simple and sufficiently accurate for many applied problems. Therefore, this asymptotic approach can also be applied to stationary characteristics of the process and it can be obtained simple and approximated formulas which have high accuracy for them. Moreover, improving this approach, it can be applied to random walks with a generalized reflecting barrier in the future studies.

## References

[1] Aliyev, R., Okur Bekar, N., Khaniyev, T. and Unver, I. Asymptotic expansions for the moments of the boundary functionals of the renewal reward process with a discrete interference of chance, Mathematical and Computational Applications 15, 117 û 126, 2010.
[2] Beyer, D., Sethi, S.P. and Taksar, M. Inventory Models with Markovian Demands and Cost Functions of Polynomial Growth, Journal of Optimization Theory and Application 98 (2), 281-323, 1998.
[3] Borovkov, A.A. Stochastic Processes in Queuing Theory, (Spinger-Verlag, New York, 1976).
[4] Brown, M. and Solomon, H.A. Second-order approximation for the variance of a renewalreward process, Stochastic Processes and Their Applications 3, 301-314, 1975.
[5] Chen, F. and Zheng, Y. Waiting time distribution in ( $T, S$ ) inventory systems, Operations Research Letters 12, 145-151, 1992.
[6] Federyuk, M.V. Asymptotics for Integrals and Series,(Nauka, Moscow, 1984).
[7] Feller, W. Introduction to Probability Theory and Its Applications II,(John Wiley, New York, 1971).
[8] Khaniyev, T. A., About moments of generalized renewal process, Transactions of NAS of Azerbaijan, Series of Phys. Tech. and Math. Sciences, 25 (1), 95 û 100, 2005.
[9] Khaniev, T.A., Unver, I. and Maden, S., On the semi-Markovian random walk with two reflecting barriers, Stochastic Analysis and Applications, 19(5), 799-819, 2001.
[10] Lotov, V.I. On some boundary crossing problems for Gaussian random walks, Annals of Probability 24 (4), 2154-2171, 1996.
[11] Patch, B., Nazarathy, Y. and Taimre, T., A correction term for the covariance of multivariate renewal-reward processes, Statistics and Probability Letters, 102, 1-7, 2014.
[12] Prabhu, N.U. Stochastic Storage Processes, (Springer-Verlag, New York, 1981). 7
[13] Rogozin, B.A., On the distribution of the first jump, Theory of Probability and Its Applications, 9(3), 450-465, 1964.
[14] Ross, S.M. Introduction to Probability Models, (Academic Press, INC., Boston, 1989).
[15] Smith, W.L. Renewal Theory and Its Ramification, Journal of the Royal Statistical Society. Series B (Methodological) 20 (2), 243-302, 1958.

TAHIR KHANIYEV (tahirkhaniyev@etu.edu.tr)-1. TOBB University of Economics and Technology, Faculty of Engineering, Department of Industrial Engineering, Sogutozu str. 43, 06560, Ankara, Turkey. 2. Azerbaijan National Academy of Sciences, Institute of Control Systems, Bahtiyar Vahabzade str.9, AZ1141, Baku, Azerbaijan.

BAŞAK GEVER (bgever@etu.edu.tr)-TOBB University of Economics and Technology, Faculty of Engineering, Department of Industrial Engineering, Sogutozu, 06560, Ankara, Turkey.

ZULFIYE HANALIOGLU (zulfiyyamammadova@karabuk.edu.tr)-Karabuk University, Faculty of Business, Department of Actuarial Sciences and Risk Management, 100. Yil, 78050, Karabuk, Turkey.

